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1.(15%) Compute the derivatives of

a). f(z) = lné—la;g b). y= (3z + 2)*(5x — 1?2 ¢).z= e

2.(20%) Find the relative extrema of

() f(z) = 2* — 42° +10, (B)g(z,y) =1— (=" + )",

3.(20%) A company makes two substitute products whose demand functions
are 71 = 200(py — p1), @2 = 500 + 100p; — 180pz, where p; and py are the prices
per unit and z; and z, are the numbers of units sold. The cost of producing the
two products are $ 0.5 and $ 0.75 per unit.

(a) Find the cost, revenue and profit functions.

(b) Find the prices that will yield maximum profit.

4.(15%) Find the following integrals:
1 2 _8z3 €

(a)./\/lnxigdx (b)/x e dz. (c)/1 In zdz.
5.(20%) Evaluate the double integral over the region R
a). [ Jrz3e®™¥dA, R:0<z<1,0<y<l1
b). J I ™A, R:1<2<3,2<y<5
6.(10%) Money is transferred continuously into an account at the constant
rate of $2,400 per year. The account earns interest at the annual rate of 6%

compounded continuously. How much will be in the account at the end of
5 years? What is the present value of this income stream during 5 years?

(€03 = 1.35,¢70% = 0.74)






